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F5 | KAk K& R B HBER BEHIT | TERTE | RAEN | RTSE
1 ST A BFEL PRI A 5, IR RS PESSAEL, RO % 3 900 f
2 ST SRS 2 PRSI RS BEYHNIL, FHELR T 3 900 %
3 BT A B PRI A S, AR RS PESSAEL, SRR % 2 600 f
1 ST SRS PRSI R S BEYHNIL, FHELIR T 2 600 %
5 ST A B PRI S 5, ABIRREATE) PESSAEL, RO % 2 600 =
6 ST S e PR S, HUR RS HEYHNIL, FHELIR ki 3 900 %
7 ST SRS BIFT DYEL G e X AR e e | PESSAEL, RO ki 2 600 f
8 ST SRS PRSI RS BEYHAIL, FHELIR ki 3 900 %
9 BT A BIFO PRI S, IR RS PESSAEL, THEDNR ki 2 600 f
10 T RS0 PR S, UR RS HEYHAIL, FHELR ki 2 600 %
11 #T FAERL B PRI A 5, GRS PESSAEL, SRR 7 3 900 &
12 T RS2 PR ES, UR RS BEYSNIL, FHELIR FHE 3 900 %
13 #T SR B3 PRI A 5, AR RS PESSAEL, RO 7k 2 600 &
14 T RS 4 PR S, UR RS HEYHAIL, FHELIR i 2 600 %
15 T FAHE IS PR AL PR 5, SR AT E) PESSAEL, SRR R 3 900 i
16 T RS L6 PR ESS, HUR RS EYHNIL, FHELIR KT 2 600 %
17 ¥ L SRR IET PrAA R S, SR RS FASHAIL, B0 FREE 2 600 =
18 T LS8 AL S g, R RS FESHAIL, SHEOR KT 2 600 5
19 ¥ L AR IE9 PrAAL R S 4, SR RS FASHAIL, B0 FREE 2 600 =
20 T 2L S 20 AL S, R RS FESHAIL, SHEOR KT 2 600 5
21 ¥ L AL 21 PrAAL R S, SRR AT FASHAIL, B0 17 3 900 =
22 T S 22 AL %, R RS FESHAIL, SHEOR T 3 900 5
23 ¥ L SR B E03 PrAAL I S, SR RS FASHAIL, B0 17 2 600 =
24 T S 24 AL %, R RS FESHAIL, SHEOR T 2 600 5
25 ¥ L SR B0 PRI A S, SR S PESSNEL, SRR 3T 3 900 =
26 T 2S5 I 26 AL %, R RS FESHAIL, SHEO R 0T 3 900 5
27 ¥ L SR B E2T PrAAL S S, SRR AT FASHAIL, B0 H SCF 3 900 =
28 T 25 I 28 AL, IR RS FESHAIL, SHEOR EXi 3 900 5
29 ¥ L SR B E29 PrAA R S 4, SR RS FASHAIL, B0 THEH 3 900 =
30 T 2SS 30 AL, R RS FESHAIL, SHEO R EXi 3 900 5
31 T e 5 JURIR) PRI S5, SLAUR A E) PEIHAIT, SEL R i 3 900 5
32 T RS 32 AL %, R RS FESHAIL, SHEOR i 2 600 5
33 T FEGS B33 PRI S5, SLALR A E) PEIHNIL, SHEL R i 2 600 &
34 T SRS IR PRI, LR B BEYSNIL, FHEL IR i 2 600 5
35 T 245 B EE35 PHRAb R A 5, SR TS PEIANIT, FUTL 3R i 2 600 %
36 T LS I RE36 PRI RS S, IR R B BEYHNIL, FHEL IR SR 3 900 5
37 1 A5 B EE3T PrAA R H S, SR RS FASHAIT, B0 oL 2 600 =
38 T LS B RESS PRI S, IR R E) BEYHNIL, FHEL IR K2 2 600 5
39 1 2 A5 B EE39 PrAA 2 H S, SR RS FASHAIT, B0 3oL 2 600 =
40 T SRS IR0 PRI S, LR R B BEYSNIL, FHEL IR SR 2 600 5
41 ) KA 2 31 EA 3 900 %
42 Hh KRS FR B2 PR 3 900 5
43 ) KA £ B 33 FLH 3 900 %
44 Hh KA FZ B3 R 3 900 5
45 L 235 5 Bh3E 1 I A B A S A 0 PEIHNIT, FUTL 3R AR 3 900 %
16 2T V21 45 B 2 P AL B 5 A B 2 TS 5 BEYHNIL, FHEL IR Rl 2 600 5
47 T 235 45 Bh3E3 P T AL FRRIE 526 B 2 W45 T 9 55 PEIANIT, FUTL 3R AR 2 600 %
48 2T V20 55 B Pr I AL B 5 A 2 T 5 BEYSNIL, FHEL IR R 3 900 5
49 AT T B BBl e 2 A 5 S S R R FASHAIT, B0 R 2 600 =
50 1THL Bt 2 T AL B8R BRI P 2 AL BRI T 5 BEYHNIL, FHEL IR BiSHE 2 600 5
51 AT e L2HBhFL b P 2 AR 55 A FE, AR X AT B BESSA, LR P 2 600 =
52 ATEL e 2 T2 BhFH2 BB P9 2 AAH OGS 95 03, SRR X AT BUE B FESHAIL, SO S 2 600 &
53 AT 25 T4 B EE3 BRIBE P9 AL TR 55 4038, RIS (X AT U BE BESATL, FUELR HFHR 2 600 %
54 ATH ATBUE (R BRI 2 5 E T AL IAT B 5 BEISNIL, LR WMEZ 2 600 B
55 AT ATEUNE (B BB AR B B R A BT B % BEYHAIL UL IR WA 2 600 %
56 ATH TEIAE (HD n B3 A T R 5% S0 S A BT B BESAIL, FUTL R X 2 600 B
57 AT ATBUNE TR BRIATBUR 2 5 S A AT O 55 BEYHAIL UL IR (7S] 2 600 &
58 ATH B GEERD WrBh 3T A I AL IAT B BEIANIL, LR WG 2 600 B
59 ATEL ATBUNE GIFCE#SS) BN R T B 5 BEYHAIL LR FILH 2 600 %
60 AT B (RRHEHS) AR $55 0 E R IR EATBOR % BESAIL, FUTL R e 2 600 B
61 ATEL B s AEBYEE L Br 5 AR FR B R P AT R A BEYHAIL LR 3L 2 600 =
62 AT i 50 T A By EE2 W4 T 22 AR HE Bt S AT O LA BEIANIL, UL IR CREL] 2 600 i
63 AT BB L ALE L BRI P E T ALAR S 45 b B BEYHAIL LR F % 2 600 %
64 ATEL e L2 B2 BB e P B AR O o 55 b FESHAIL, TR0 A 2 600 =
65 AT BB T4 E3 BRI P E T ALAR S 45 b B BEYHAIL UL IR F % 2 600 %
66 ATEL et T2 B BBk B AL SRk 9% FESHAIL, TR0 % 2 600 &
67 L WY A WYL S BEYSATL SHEL, AR E RS AR 8 2400 i
68 AT A TR EL MIEAIS “AEE” BEYIANIL, THEL IR RO 2 600 7




